Приложение 2
Карточки для самостоятельной работы
I вариант
                                                              II вариант

1)Решите уравнение:                                             1)Решите уравнение:

     а) -4(х+3)=0;                                                           а) -2(х-6)=0;                                                                    

     б) -5у(у-2)(у+2)=0                                                  б) -у(у+8)(у-1)=0

2) Сравни выражения, не сравнивая их значения:

а) -0,01·(-1,415)  и 27
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·(-7,288);                   а) -1,0121·19,04 и 
[image: image2.wmf]212

1

 ·19,64;      

б) (-12,4)2 и (-6,8)3.                                          б) (-3,46)2 и (-7,9)3.                                         
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